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Problem quickname: 9443

1
Fill in the missing numbers.

a) 20 + 380 = 400 b) 31 + 169 = 200
d) 63 + 437 = 500 e) 77 + 623 = 700
g) 88 + 512 = 600 h) 36 + 264 = 300
i) 92 + 708 = 800

2)
Fill in the missing numbers.

a) 311 + 689 = 1000
d) 764 + 4236 = 5000
g) 868 + 4132 = 5000
i) 262 + 7738 = 8000

b) 838 + 5162 = 6000
e) 526 + 3474 = 4000
L) 536 + 7464 = 8000
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¢) 89 + 611 = 700
f) 84 4+ 416 = 500
i) 22 + 378 = 400

¢) 264 + 3736 = 4000
f) 334 + 5666 = 6000
i) 657 + 1343 = 2000

3)

Fill in the missing numbers.

a) 44 56 =60 b) 44 76 = 80 c)6+74 =280 d) 8+22 =30
e) 9+71 =280 f) 5425 =30 g) b+45 =50 h) 3+ 77 =380
i)3+67="70 j) 6+ 34 =40

4)

Fill in the missing numbers.

a) 200 + 7800 = 8000
d) 600 + 1400 = 2000
g) 800 + 200 = 1000
i) 500 4+ 7500 = 8000

Good Luck!

b) 300 + 6700 = 7000
e) 300 4+ 5700 = 6000
h) 300 4+ 7700 = 8000
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c¢) 500 4+ 5500 = 6000
f) 300 4+ 4700 = 5000
i) 600 + 7400 = 8000
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